Pre Calculus Name:
Prerequisite Review Block:

-alculator Allowed. Show all applicable work for full credit.

Use an inequality to describe:

1. the interval (—c0, 3] 2. “Olympic gymnasts are at least 14 years old.”
3. Graph the interval [-7, ) 4. Use interval notation to describe the graph below.
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8. Write the uation of the line in point slope form through (~1,~4) and (3:2)«
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9. Write the equation of the line in slope 1ntercf§)t form through (3,10) and parallel to 5x+6y =33. A5y
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10. Write the equation of the line in general form through (-3,2) and perpendlcular t0 =4x+2y= —H—ﬂ

P 3
i & T2

et B
X g / Lﬁ — 7= a




Solve each equation or inequality algebraically. Show all work!! Use interval notation where appropriate.
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19. 6x* +7x=3 20. 12x' —14x* —6x =0
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22. Solve by the quadratic formula: 4x* =~10x-5.
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23. Solve by graphing: 4x* =9x+2>0.
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" 24. Find the equation of a circle that has a center of (6, 7) and a radius of 8. \
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25. Given the equation of the circle (x-3 * +(»+1)* =10, what is the center and radius?
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26. Use the following 2 points: (8, 13) and 2,7

a) Find the midpoint.
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b) Find the distance between the two points.
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